Jododododododog PODFOOOODOODOOO
Jodoooood
https://www.100test.com/kao_ti2020/70/2021 2022 E4 BC 9A E
8 AE Al E8 AE A4 E8 c44 70972.htm 100 O O 00 i=p*i*n 201
Do0000Of=pOdlrn0d 30 00000p=f/0O1rn0 40 O O
OO00Of=pOlidndO0pdf/pOidnd 5000000 p=f011
O-nO0Of0p/fOi0nO 600000000 f=a[l1iln-1]/i
OO0adfabdiOnO 7000000 Oa=/[0110n-1]0 0O f
Da/fdiond 800000000 p=af[1-021i0-n}/i}00a
Op/adidnd 00000 odOa=p{i/[1-01iI0-n]}00p
Oa/pUdiOnd 0000000000 f=a{[1i00n1
O-11/4-10 00 f/aldi0n10-1]110 0000000

O p=a{[1-0 1i0 -0 n-10 )/ 1}0 O a[O p/ald id n-10 1] 1200 [
Jod0odoouoooooodmn00oonoodn
Jo00o00O0OmdOooodod p=aff1-U1i0 -0 mnO }/i-[1-
O1i0-m]/i}0 Oa[0p/ald i0mnOd-Op/aldidn0d ] 0000
Jodododouododouooooodouoodo
p=a{[1-U 110 - n}/i*[U 110 - m]}0 O a[U p/all i nO *0 p/fOd |
OmOj0d00ddoooodoooooooooooooon
000 p=af[0] 1100 n-1}/i}*00 110 -O nmO O O all f/a,i,n]
Op/fiinmd 30 0000000p=a/i140 0000 =[O f/p
O1/n-100000000 =a/pU 00000 ODOO0O0O
Jodododouououoooooooooooodi
Jodododouououood=i1gop 1-a 0/
Bl-apB200*0i2-il0 150000000000 0O0OO0OI=
Ol1rmOm-1000rM000000mOO0OO0OO 16000



0000 r=rfrr=rfb*170 00 00 0 pd90 180 0 0 O O p50
0190000000p500 200 00000 0v=0 /621000
N00000=0000000000000x000000 -
0000000000000x000000-00000x0
00000x000000200000000000000
000000000ps700000000p680 230000
0000000v=0p-e0*n00p0000000000e0
N0000n000000000240000000=000
O0*0pAf0il0n0 D00 0*i20p/adil0n0 0000100

00000000 0N00000 0000000000
000000000 000000=0000%*01i2*n0*
Opf0il0n0 2500 000000=0000/0000 00
00=000000/00000026000000000

0 =cd/0 1-cd0 *360/n*100% 0 0 0cd0 00000000
On0000000000000000000000000
270 00 0 0 O kb=i0 1-t0 /[b00 1-f0 J=b*i*0 1-t0 / [b00] 1-f
0]000k00000000000000000t000
0000bD 0000000000000 00000

N00000000f0000000 280000000

0 ki=i0 1-t0 /[10 1-f0 ]=i**0 1-t0 /[I0 1-f0 ] 0 O ki =i0) 1-t
00000000 000k00000000i00000
0000000000000 0W000000i0000
0000000000000 290000000 kp=d/po
01t0 000kp0 00000 0dO0O00000000p0
0000000030000000000000

0 ke=d/p0*100% O ke=[d1/p00 1-{0]¢g0 0000000



Oke=rfB Urm-rff0 ODOOOOOO0OOOOOOKe=rfrp 0O
OkecOOOOOOoO0diodiligoododpododdon
OogU 0000 300000000k=dl/p0g320 0000
DJO0000kw=cwkjOOOkwO OOOOOOOOOwO
JjodooooododkyOjpooodod s3guod
OO0000Obpi=tfi/wiOO00bpi0 00O0OOOOOthO O 10
Jodododododwibooooooooinooon
D000 34000000m=0p-bdx=m*x1 0 0Om4 QOO

OO00OpU0O00O0O0bbOUOO00Uo0Omiooooon

OxO OO0 350000000 ebit=0U p-bJ x-a=m-a 3601 [ [
[ O 0O dol=m/ebit=m/U m-alJ 370 O O 0O O O dfl=ebit/U] ebit-i
[0 380J O O O O O del=dol*dfl=m/[ebit-i-d/J 1-tJ ] 3901 O [

Jo00o00ododod [0ebit-ilt O 1-t0 -d1)/n1=[

[ ebit-i20 O 1-t0 -d2)/n2 0 ebit0 DO 0D OO0 OO0 0000 O
Jo0d0o0dodododebtdi 00000 ooooooo
Joddoodoooo4outouoodou=0o0d

OO0 00 odoooo=000uou-00u0*i1-
Jooooo/oododododdodndke=rfp Orm-rf
0400000000000 0rp=> w420 000 0 cov

Orl,r20=1/n> Orli-ri0 0O r2i-r20 430 0 0 0 0 O

p 12=covlrl,r20 /0o lo20 000000000000
DO0000000000 p=[wl2o 12w220 222wl o 1cov

Orl,r20 ]12100Test D D O 0D 000000000 O0OOMO

000000 www.100test.com



